| dE/dx estimator 1 |

0.24fF
0.2255

0.2
0.18
0.16
0.14
0.12

0.1F
0.08
0.06
0.04F
0.02

Entries 19737
Mean 2.58
Std Dev 1.455

Entries 18953
Mean 2.583
Std Dev 1.449

Entries 18953

1
1.1
1
0.9

Ratio

IIII!IIII‘l.IIII!IIII TTT1]

o
o)

o

dE/dx, harm?2

| dE/dx estimator 2 |

0.25

0.15

0.1

0.05

...................................

Entries 18953
Mean 2.45
"""""""""""""""""" Std Dev 1.413

0.2f

T T T - Entries 19737
= : : ¢ [ Mean 2.446
Std Dev 1.42

Entries 18953
Mean 2.45
Std Dev 1.413

o :0f T —

8 f

T - el
0.9F -+ fifde Bl S TR SO R
4 2 3 45 6 7 8 9 10

(@)

dE/dx, trunc40

—s— DQM_mkFit_TT_baseR3_noSel_ok

—e— DQM_mkFit_TT_base_8iter_noSel_ok

CTTaTeS ITITOT n M CTIaTeS 19737

0.22f—----ieemeeerieeeeens Boeeeeees Breeees | Mean 6.155 [0 Y4 SO SO S .| Mean 0.4269
i : : . | std Dev 5.236 U . | std Dev 0.7872

0.2 A o o o ] ' : : : : : : ]
0.18 : ISR T STTTTTT SV T Entries 18953 0.6 . ........ ________ ........ Entries 18953
' : . | Mean 6.159 : : : : | Mean 0.431

—— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok

. | std Dev 5.234

! [Entries 18953
: Mean 6.159
| std Dev 5.234

0.95%

010 20

30 40 50 60 70 80

dE/dx number of measurements

! |Std Dev 0.7895

! [Entries 18953

Ratio
=

0.9

0.8%

: : : : i | Mean 0.431
SR SR SR S :.|_Std Dev 0.7895
| | L] | |

0 10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


